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1: You are given a velocity graph below. Draw the correspondlng displacement graph on
the blank grid. Label axes carefully! '
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Write a brief sentence describing this journey. ‘
/Dbt drive 2 hownrs fdﬁl ot lo /<m/hr -ﬂwm )/am Furen
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2 Below is a graph of the function f(z) = 22 — z3. Find an equation of the tangent line
- in the form y = mz + b at = 1. You can use the graph to verify your ansvver, but
- you have to use calculus to find the equation.-
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3. Below is a graph of a velocity curve.: Find an equatlon for the dlsplacement curve.
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4. L'e{: f(:v) be a function — you don’t know exactly what f(z) is, but you are given that
~ fi(z) = 2(3 -~ 2z). The function is defined on all real numbers. Where is this function
: 1ncreasmg7 Where is thls functlon decreasing? Write your answers in interval notation.

(3 '2 ?ﬁ) W T A’(/w’d yf /905‘/'7{ e, |
So £ <0 when X<  and AYx) >0 when X >0
Inereasing - (0, =)
: 5 Fmd the défi\vfa;tvives of the followiﬁg functions.
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6. Suppose f(z) = 3z — cos(z ). Find /().
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il E T Below is a graph of f(z) .= 32 — 23, You are given that f'(z) = 6z — 322 and
' lx) = 6— 6z. By makmg the approprlate sign chart, find all 1nﬂect10n pomts on this

curve. L : : :
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8. F111 in the blank with the best answer. Write out Words completely; do not use abbre-
v1at10ns '

a) We use information about when f'(z) is positive or ne ative to determine where
€ ,

the function is dngr C'ZL( /m’/’? or . é/ ECy P{;?(’ /ﬂ@?

- (b) We use information about When f"(z) is positive or negative to determine where
| the function is . (2LAY & U}b or ___CONLGyve tﬁ/”“"'ﬁ/)

 (c):Aninflection point is a point on the graph where the ConLhv ""L,y changes.
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